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	Module 1: Lesson 6 ASSIGNMENT

This Module 1: Lesson 6 Assignment is worth 85 marks. The value of each assignment and each question is stated in the left margin.


	(85 marks)
	Lesson 6 Assignment—Mechanoreception—the Ear


	(30 marks)
	Part 1—Lab 1
To ensure your understanding of the concepts of pitch and loudness, you will use the Frequency and Volume Gizmo reached by following the link on page 7 of Lesson 6.
Your instructor will look for the following in your work:
· predictions with explanations (5 marks)

· data and observations: equal loudness curves and threshold of audibility curves for each person tested or shared curves from three or four classmates (5 marks)

· discussion incorporating the guiding questions (15 marks)

· conclusion (5 marks)



Answer:

	


	(15 marks)
	Part 2—Closed Written Response
This question is intended to give you practice in improving your thinking and writing skills. It is similar to the data-based, closed-response written question that you will do on the Diploma Exam. Based on the information in the context box, and your understanding of the course, you are to provide very specific responses to the following list of questions.  You might wish to review the “directing words” found on page 761 of your textbook before you write your responses. These directing words are used on your Diploma Exam and the assessments in this course to help you develop your answer to written response questions. 

Use the information below to answer the next question.
Noise-Induced Hearing Loss (NIHL)

Impulse sound can result in immediate hearing loss that may be permanent. The structures of the inner ear may be severely damaged by such sounds. This kind of hearing loss may be accompanied by tinnitus, a ringing, buzzing, or roaring in the ears or head, which may subside over time. Hearing loss and tinnitus may be experienced in one or both ears, and tinnitus may recur constantly or occasionally throughout a lifetime. The structure of the hair cells is damaged by continuous exposure to loud noise. This results in hearing loss and tinnitus. Exposure to impulse and continuous noise may only cause a temporary loss of hearing. If hearing is recovered, the temporary loss of hearing is called a temporary threshold shift. The temporary threshold shift most often disappears within 16 to 48 hours after the exposure to the loud noise. Millions of North Americans, including children, adolescents, young adults, adults, and elderly persons, may develop noise-induced hearing loss.



	(1 mark)
	1.
	a.
	Identify the sensory receptors in the inner ear.



Answer:

	


	(5 marks)
	b.
	Explain in detail how sound waves that are amplified by the ossicles are translated into a nerve impulse in the inner ear.



Answer:

	


	(3 marks)
	c.
	Describe how continued exposure to loud noises can result in noise-induced hearing loss.



Answer:

	


	(2 marks)
	d.
	State two reasons why so many North Americans have NIHL.



Answer:

	


	(2 marks)
	e.
	Identify some strategies that people could use to reduce their chances of developing NIHL.



Answer:

	


	(2 marks)
	f.
	Why would a hearing aid NOT be of much use for a person with NIHL?  



Answer:

	


	(40 marks)
	Part 3—Hearing Technologies Research

Scientists and engineers are always looking for practical solutions to medical problems. Research three technologies, including hearing aids, cochlear implants, and one technology of your choice, that are solutions to hearing loss. Write a report on your findings. To help you get started, you might want to go to the Web Links at the McGraw- Hill Ryerson online learning centre at www.albertabiology.ca.

Include the following in your report:

· information about how each technology works


· a comparison of how sounds are perceived when each type of technology is used

· what type of deafness is addressed by each technology

· the functions of which structures of the ear are compensated for or enhanced by each technology

· an explanation of how e2e (ear-to-ear) wireless technology hearing aids are an improvement on conventional hearing aids   

Place your report in the space provided below. 

Rubric
For each of the first four bullets dealing with technologies:

· 3 marks will be given for complete, well-explained answers using biological terms.

· 2 marks will be given for correct answers that are not fully explained.

· 1 mark will be given for incomplete answers.
Each technology will involve answering the first four bullets: 3 technologies X 3 marks/bullet = 36 marks

Bullet 5 is worth 4 marks.




Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



